Escribe el nimero que falta en cada caso.

1: 25+ m =42
5. 6* m=48
9. 38+m=105

13. 500: ™ =100

Resuelve y comprueba.
16. n+12=35

5 _vib-
20. 14§-y+6 12

24. x-15=35
28. 24-r=8
Resuelve.

31. 7x=105
M 9=g:3
37. 7r=84

40. b+33:95

43. 504=c-212

46. 21=d:2

49. 10t =6t +24

52. -5d +40=5d

55. 8k =6k + 26

58. éa+6=ia
8 4

61. 7f+6=9f-4

2.

17.

21.

25.

®+56 =101
W7 =63
m-45=29

m:8=-14

m-7=5

9+(:9.5

24,1+z2=30

8-t=3,5

1.

15.

18.

30.

32. 1235+r=34,05

35. 150 = 3j

38. 5x=35

at Pd

h
— =83
20

-6x-32=2x

47.

50.

53. Im-28=2m

56. 32-5v=3v+8

59. ln+ 10 = gn
4 3

1
62. 28—-—k=k
3

49-m=12
200: m=4

125: m=5

We24=72

c+34=5

33.

36.

39.

42.

45.

51.

57.

63.

4. W-72=56
8. W:12=12
12. 38+ I =266

19. 108+ c=157

23. 7z- l:0,5
4

12f = 240

15,7+q=269
r-92=215
j=20-4j

8 4

2 x=8+=2x
9

-12y-10=+6y + 14

. 20-Ld-3.d+16
510

2m+6=3m



